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GEOGRAPHY - IIi

et - 111

1.

Stream piracy may take place by :
(a) Sediment deposition

(b) Headward erosion

(c) Lateral planation

(d) Subterranean diversion
Codes :

(A) (a), (b) and (c) are correct
(B) (a), (c) and (d) are correct
(C) (b), (c) and (d) are correct
(D) Only (b) and (c) are correct

Who among the following forwarded the
Dynamic Equilibrium Theory of land

forms ?

(a) Davis
(b) Strahler
(c) Hack

(d) Crickmay
Codes :

(A) (@), (b) and ()
(B) (), () and (@)
(©)  (b) and (¢) only
(D) (c) and (d) only

ftar 7oLl B Whd | :
(a) oaEE fEm @

(b) e STREA @

(c) TIfvdss THATH @
(d) fra foded @
e :

(A) (a), (b) e (0) ¥ ¥
(B) (a), (c) T (d) T T
() (b), (c) 7N (d) WA T
(D) et (b) T () T €1

frefafga § ¥ feem-fwga o sTepiadl &
T e % TagT i seEn faan?

() <=

(b) TR
()

(d) free

<

A) (@), (b) T ()
(B) (b), () T (d)
(©) Fad (b) T (o)
(D) e (c) T (d)
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Match List - I with List - IT and select the
correct answer from the codes given

below :
List - I List - II
(Topography) (Feature)
(a) Arid (i) Hum
(b) Karst (i) Barkhan
(c) Glacial (iii) Pingo
(d) Peri-glacial (iv) Kame

Codes :

@@ () (9 (@
(4) @ @ @ (@)
(B) @ @O (@) ()
© @) @Gv) @ @
(D) @v) @) @@ @

What are the evidences of rejuvenation
in a stream valley ?

(a) Entrenched meanders -
(b) Ox-bow Lakes

(¢) Nick points

(d) Terraces

Codes :

(&) (@), (©) and (d)

() (), (b) and (d)

(C) () and (d) only

(D) (), (c) and (d)

3.

el - I g - 11 % 9 gfea sk

3R = 2 | R g

et - 1 Tl - 11
(ToreTRfe ) (ergror)
(@ =% @ =
(b) wHE (i) K@M
(c) Teurt (i) T
(d) uR fear (iv) *H
%< :

@ () () ()
(4) @ @ @@ (v)
(B) @ @ (@v) ()
© @ (v @ @
(D) (@v) (@) @ @

U TS H IR o F-1 18 B ¥ ?

(@ TRhE faed (detm)
(b) SHFg-S-ghe

(0 & =rzm

(@ 2w

e

(A) (a), (c) &1 (d)

(B) (), (b) 7 (d)

(©) e (a) TeM (d)

(D) (b), (c) T (d)
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Assertion (A) :
Granite has larger crystals than basalt.

Reason (R) :

Basalt has larger content of metallic
minerals.

Select the correct answer from the codes
given below :

(A) Both (A) and (R) are true and (R)
explains (A)

Both (A) and (R) are true but (R)
does not explain (A)

(A) is true but (R) is false

(A) is false but (R) is true

(B)

©
(D)

Match the List - I with List - II and select
the correct answer from the codes given

below :

List - I List - II

(Weathering) (Process)

Mechanical (i) Chelation
weathering
Chemical (i) Burrowing
weathering of animals
Biotic (iii) Granular
weathering disintegration
Bio-chemical  (iv) Cation root
weathering exchange
Codes :

@ () () (d
(A @ @) @) (@v)
(B) @) @ @@H @)
© (@) @) @) @
D) @& @v) (@) @

6.

(@)

©

(d)

fmaT (A)

e H, sdtee ¥ fues o8 fFed ud
gl

T (R) =

g B it Wias wt |7 st Dt T

=1 e 9 wd W g

(A) T (R) TF1 ¥ € 3R (R), (A)
1 TE A FAT &

(A) 91 (R) T T € = (R), (A)
) Tl AT T8 Al

(A) ¥ § T (R) T &

(A) A € T (R) WL §

(A)

(B)

(©)
(D)

el - 16! goit - 119 ey iR et g2 9
T SR A :

T - 1 T - 11
( 3TagrET) (wferan)
FiAeh AUAN () oA
REIRIECT (i) ST W faa
Y&
Sifod sTqe@e (i) iUkl foERA
SA-TEEMS  (iv)  heH qo fatwa
JT9&I0T
%

@@ () (o) (d)
(A) @ G @) @)
(B) @) @O @ W)
© (v) @) @) @
D) @ (v) @) (i)
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7. Match the List - I with List - II and select
the correct answer from the codes given
below :

List - I List - II
(Theories/Hypotheses) (Aspects)
(a) Geosynclinal (i)  Origin of tides
theory
(b) Tetrahedral (i) Origin of coral
hypothesis reefs and atolls
(c) Staﬁonary (iii) Mountain
Wave theory Building
(d) Subsidence (iv) Origin of
theory continents and
ocean basins
Codes :
@ () (@ (d
(A) @) @) @ @
B @) ) @ 6
© @) v @ @
D) @) G O @
8. Which of the following characterise the

continental tropical (CT) air masses ?

(a) They are dry

(b) They are warm and moist

(c) Subsidence and stability are found
in the upper parts of these air
masses in their source regions

(d) They are highly unstable

Codes :

(&) (), (0 and (d)

(B)  (b) and (c) only

(© (a), (©) and (d)

(D) (a) and (c) only

eIl - 11 el - 11 9§ fremse oik frer e 9
Hﬁﬁ?ﬂﬁﬂ{

T - 1 T - 11
( Racgra aftemeur ) (&)
() L-sffaes fagia () s (erde) =i
Icafq
(b) TR () FR GHH R
RS T &I Sdfq

(c) AW (i) waq Fmto

Tagra

(d) e fagia  (iv) TeEY AR Ere

(afg) =i 3efa

E TR

@@ () () (d
(A) (@) @Gv) @ (@)
(B) (v) () @@ ()
© (@) @) @
(D) Gv) @) @ (i)

TR SwikfesRig (CT) =1y ufdml =t

frefafea 3 & SF-99 @ fadand ¥2

(@) o YH AT

(b) & oo T 79 DA

(c) STk i waun B T oy URR & Hud
T H STeder Ue feerdar areh &

(@) 9 3fy 1feer Bt &
%e: :

(A)  (b), (c) T (d)
(B) hd (b) T ()
© (@), (c) T (d)
(D) A (a) T (c)
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(@)
(b)
©
(d)

10.

Match List - I with List - IT and select the 9.

correct answer from the codes given
below :

List - I List - IT
Climatic Type Letter Symbol

(Koppen)

Steppes i) Af (@)
Tropical Savanna (i) BS (b)
Tropical Monsoon (i) Aw ()
Tropical rainy (iv) Am (d)
(wet all season)
Codes :

@ ® © @
A (O @ @) )
® @) 0 @ )
© @ @) @) 0
D) (v @) @ 0
What is the basis of classification of 10.
clouds ?
(a) Form
(b) Precipitation
(c) Altitude
(d) Colour
Codes :
(A) (a) and (b) only
(B) (b), (c) and (d) only
(©) (@), (b) and (c) only
(D) All of the above

A - 1 GE - 11 T gAlea wifsg

ﬁ?ﬁ@@ﬁ“ﬁ?ﬁ(ﬂﬁq
e -1 gEt - I
TG TR HehaTe
(T
it i) Af
IWERfeag WA (i) BS
SwrEfeaE A (i) Aw
SorRfeardta 3T (iv) Am
(goft gt o =)
%
@@ ® ((© (@
(A @ G @) (@)
(B) (@) @ @) @)
©) @) @) @v) @
(D) (v) @) @) @
B TR0l ShT STTHR 1 8 2
(a) SRR
(b) W&
() e
(d
%<
(A) e (a) 3R (b)
(B) ¥ (b), (c) 3 (d)
(C) % (a), (b) 3R ()
(D) IaleR weft
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11.

12.

The characteristics of a cyclone includes
the following :

(a) Air convergence
(b) Upliftment of air
(c) Centrifugal air flow

(d) Extremely low pressure in the
centre of cyclone

Codes :

(A) (a) and (d) only
(B) (a), (b) and (d) only
(C©) (a), (b) and (c) only

(D) All of the above

Assertion (A) :

Jet aircrafts mostly fly in the stratosphere.
Reason (R) :

There is less fuel consumption in this layer.

Select the correct answer from the codes
given below :

(A) Both (A) and (R) are true and (R)
explains (A)

(B) Both (A) and (R) are true but (R) |

does not explain (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

11.

12.

FshaTd o TN B B

(a) g SAfirERo

(b) 9g T IW I3

() 1Tl A1 Yelre

(d) AT % s W STATE HH g I

(A) o (a) 3R (d)
(B) % (a), (b) 3 (d)
(©) F9d (), (b) R ()
(D) SHRi= |t

AfHwAT (A) :

T2 AN A THAAHES § Sed §1
I (R) :

39 A H ¥ $oF @ B §1

A I A 11 F2 | ghi

(A) (A) 7 (R) 3 T ¥ IR (R), (A)
Y ST T &

(B) (A) T (R) Tl ¥ § T (R), (A)
i ST T T &

©) (A) T ® W (R) T @
(D) (A) T T R (R) T &
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13.

14.

Match the List - I with List - II and select
the correct answer from the given codes

below :
List -1 List - 11
(Clouds) (Symbols)
(@) Cirrus i) Ac
(b) Altocumulus (i) Cu
() Cumulus (i) Ns

(d) Nimbo Stratus  (iv) Ci
Codes :
@ @® () (@
(A) @ @) @) @)
®) @@ @) @) 0O
© Gv) @ @@ ()
(D) () @) Gv) @@

Match the List - I with List - IT and select
the correct answer from the codes given

below :
List - I List - II
(a) Isobars (i) Temperature
(b) Isohyets (i) Pressure
(c) Isotherms (iii) Rainfall
(d) Isohel (iv) Sunshine

Codes :

@ @ () (@
(A) @ @ @) )
(B) () @) () @)
© @ @ G@v) ()
(D) @) @@ @ )

13.

14.

(@)
(b)
©
(d)

et - 19 et - 11 & frremew o) Fret %2 @
& S Y :

gl -1 g - 11

(%) (wdih )
(a) Tow@ G TE. (Ao
) orREEeE () WA (Cu)
() FHIE (i) TATE. (Ns)
(d) Fish weH (v) w3 (Ci)

% :

@ @® © @
(A O @ @) @)
®) @@ @) @ O
© @) 6 @ @
(D) (@ @) @v) @

uﬁ&@uﬁk-nﬁﬁwawﬁw%ﬁ
e SR gAY

TR -1 Tt - 11
RS @1 () TIEE
e @l (i) <9

AHET @ (Isotherms) (iif) =St
quamE @ (Isohel)  (iv) YU
e

@ ® (© @
(A) () @ @ )
B) (v) @ @) @
© @) @ Gv) ()
(D) (@) @ @ )
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15.

16.

What is the correct sequence of food
chain in the Arctic waters from the
following ?

(A) Zooplankton - Diatoms - Fish -
Polar bear - Seal

(B)  Diatoms - Zooplankton - Fish - Seal
- Polar bear

(C) Fish - Diatoms - Seal - Zooplankton
- Polar bear

(D) Diatoms - Fish - Polar bear - Seal -
Zooplankton

Assertion (A) :

Tropical seas in India are rich in fish
species but there are few important
fishing grounds around the country.

Reason (R) :

The quantity of fish of a particular species
is lacking and hence not commercially
exploitable.

Select the correct answer from the codes
given below :

(A) Both (A) and (R) are true and (R)
explains (A)

(B) Both (A) and (R) are true but (R)
does not explain (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

15.

16.

frefefen @ smbfes S & @ s@en 1
W& TFH 1 & FaE0 ?

(A)  TeIRA-SREE-all-ga 49-
EeirG)

(B) TIRUITH-S[TH ¥ A-AIAT-HiaA-
CCIRRIE]

(©) wTA-SRETH-HdA- el g2 7-
PEIRRIE]

(D) SRUZH-A3AI-4dF U3-did-
S[RiFeA

R (A):

IRd H Sorehfesta wqg fafis yor &
weedt gttt § iyt € W uwe § sga @
FH ASC! Tehe & Teequl TH §

WHRUT (R) :

T TR YehR % Wl gt i wen a5
%0 ¥ 39feTT =R % fow e T8 ¥

Hﬁwﬁﬁmwégﬁq:

(A) (A) 7 (R) EF 5 § &R (R), (A)
T AT T

(B) (A) T (R) Tl ¥ € W (R), (A)
it AT TE AT

(C) (A) ¥ 8 I (R) Terd &
(D) (A) o ¥ W (R) T &
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17.

18.

Assertion (A) :

Soil flora and micro-organisms largely
affect properties of soils of a given region.
Reason (R) :

These organisms include larger plants
mainly their roots, fungi, bacteria, algae
and soil protozoa.

Select the correct answer from the codes
given below :

(A) Both (A) and (R) are true and (R)
explains (A)

Both (A) and (R) are true but (R)
does not explain (A)

(A) is true but (R) is false

(A) is false but (R) is true

(B)

©)
(D)

Given below are two statements, one is
labelled as Assertion (A) and the other is
labelled as Reason (R). Select the correct
answer using the codes given below :
Assertion (A) : |

The number of carnivores is less than the
number of herbivores.

Reason (R) :

The amount of energy transferred from
one trophic level to another remains the
same.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
Both (A) and (R) are true, but (R)is
not the correct explanation of (A)
(A) is true, but (R) is false

(A) is false, but (R) is true

(B)

©)
(D)

17.

18.

AT (A) :
waa%wwaﬁﬁqawsﬁtqm
S eyt e ¥

WHTUT (R) :
Eéﬁaﬁﬁg@?ﬁxmwﬁm@%a@ﬁﬁ
TIersie |

71 e & wf s gf .

(A) T2 (R) ST 1 § 3iR (R), (A)
i SRAT T &

(A) 9o (R) T &1 ¥ oiR (R), (A)
! T & e &

(A) ¥ § I (R) Tord

(A) T § W (R) 9 &

(A)

(B)

(©)
(D)

ﬂ%awfaﬁ@%@ﬁmm(m
HEN T T IR TER T T (R) el 17 3|
ﬁﬁﬁ'@fﬁ@ﬂ"@ﬁ?ﬂﬁ?:

ATUFHLT (A) :
AR SHa %) Hen e st q &y
gy

(A) 3R (R) S o § aik (R), (A)
! e e ¥ ‘

(A) 3R (R) I 7 & g (R), (A)
1 HE e @

(A) T &, g (R) 318 ¥

(A) 379 &, 9] (R) ¥ &1

©)
(D)
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19.

20.

Match the List - I with List - IT and select
the correct answer from the codes given

below :

List - I List - II
(Soil Type) (Characteristics)
Entisol (i) Clay-rich soils

Ventisol  (ii) Highly weathered
tropical and

sub-tropical soils

Spodosol (iii) Young soils with
no horizons

Oxisol (iv) Acid soils with
leached upper
horizon

Codes :

@ () () (@

(4 @ @O @ @)

(B) @) () (@v) ()

© @ @) @ @)

D) @) O @ @

The current systems of the Indian ocean
are lérgely controlled and modified by
which of the following factors ?

(a) Land masses

(by Monsoon winds

(c) Rotation of the earth

(d) Upwelling of cold water

Codes :

(A) (@) and (b) only

(B) (@), (b) and (d)

(© (), (b) and (¢)

(D) (), (c) and (d)

19.

() weE 9

(d) T HE

20.

(=T 9 )
(@ TEHEA ()
(b) IEEA (i)

el - 161 it - 11 9 fremen aen e e @
H’@‘W‘g’ﬁ?:
g - 1 T - 11
(goT)
A T
iy sifm
SRS qun
S
[ERISRERHER TR

Tenfera Sudt fardts afea
A T

(iv)

e

@ () () (d)
(A) @ @ @) (@)
(B) @) (@ @) (@
© @) @v) @ @
D) @) () @) @

&< TR &t ¥ o B gerd: e g
forerg Frafa qen gonfud fean s &2

(@) yEe

(b) WA T

(c) gt 1 e

(d) A I T WF
FE:

(A) e (a) 3R (b)
(B) (a), (b) 3R (d)
© (a), (b) &R (c)

(D) (b, (c) ¥R (d)
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21.

(@)

(b)

©

(d)

22.

Match the List - I with List - IT and select
the correct answer from the codes given

below :
List - I List - II
(Ocean Ridge) (Ocean)
Wyville Thompson (i)  Indian
Ridge ocean
Jan Mayen Ridge (i) Pacific
ocean
New Zealand Ridge (iii) Arctic
ocean
Chagos Ridge (iv) Atlantic
ocean
Codes :
@ ® (© (@
@) O 6 @ @)
® @ O @ G

(©) (i)
(D) ()

v) @ (i)
(@) (@) @)

Growth of coral polyps require conditions
like :

(a) High mean annual temperature
(b) Not much deeper water

(c) Clean sediment free water

(d) Polluted water and very low
temperature

Codes :

(A) (a), (b) and (d)
(B) (b), () and (d)
(©) (a), (b) and ()
(D) (d), (¢) and (a)

21. G - I Geit - 11§ freee oiv fog 1o e

(@)

(b)

©

(d)

22,

Y W& W ﬁﬁ'q :

Tt -1 g - 11
(|rrrg Gw) ( WErErT )
Il AT () e HERR
L]

SR A (i) wenid WeEnR
Ieitetes T (iii) TRk AR
=g s (iv) 3TeAeh HEEFR
C TR

@ ® (o (@@
A) @ G @) (i)
(B) (v) () @) (i)

© @) (v) @ ()

(D) (v) () (@) ()

SR Tifered % Fereld & fou o el o
STl Bl & :

(a) = 9 T qIHE

(b) ATk TR A T

(c) SR Ho | el

(d) W@ S SR 9ga HH qqHE

%

(A)  (a), (b) 3R (d)
(B)  (b), (o) 3R (d)
©) (a), (b) 3 ()
(D) (), () ¥R (a)
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23.

Given below are two-statements, one
labelled Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) :

There was no substantial contribution to
Geography in the dark age.

Reason (R) :

At that time the Geographical Philosophy
was Guided by Religious doctrines.

In the context of the above two
statements, which one of the following is

correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(©) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

23.

e g e R T U 0 tfueRe (A)
3R T 1 T (R) T T fean man €

fueRe (A) :

3y g0 H i & fae § o8 Seieg
T & g8 ot |

/I (R) :

39 orafy § viifesr famr od gra fefem
o

g 1wl F Hed d frfafea § €
I & 2

(A) (A) ¥R (R) 3 T € IR (R), (A)
T A R |

t

(B) (A) 3 (R) 3T ¥ ¥, WY (R), (A)
it Tl AT TR &

(C) (A) ¥E T, W (R) 39 B |

(D) (A) 8 T, W (R) w2
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24.

Given below are two statements. One
labelled as Assertion (A) and the other
labelled as Reason (R) :

Assertion (A) :

French Geographers considered human
being as a whole unit.

Reason (R) :

Environment Influences human being to
limited extent, but human being influence
the environment to a great extent.

In the context of the above two
statements, which one of the following is
correct ?

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(B)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

24.

= 7 wew i u ), e @
AfmeaT (A) oiR go &®woT (R) §

AR (A)

A sriieesl {7 R aee ol
THE €

hNUT (R) :

AT HH i Tk HIAT dF guiea e
81 WY AME amareRe # osyden sifye
wiferemelt 1

ST § FEl F ded §F frafafeg 4 @
FH GG R ?

(A) 3R (R) S T ¥ iR (R), (A)
Ht Tl AT

(A)

(A) 3R (R) 37 ¥ ¥ Wy (R), (A)
i Tl = T Y

(B)

©) (A) 99 8, T (R) 30T T

(D) (A) 379 B, Wg (R) ¥4 T
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25.

(@)

(b)

)

(d)

Match List - I with List - IT and select the
correct answer from the codes given

below :
List - I List - II
(Geographers) (Concept/Books)

Whittlessey (i) Pays

Hagerstrand (i) Sequent

occupance
Gould (iii) Simulation

model
Blache (iv) Mental

Maps

Codes :

@ () (9 (@@

(A) @) @O (@) @)

(B) () (@v) () (i)

© @ @ (@) @)

(D) @) @) @) @)

25. Wt - 1l Gt - I1 3 91 gAferq ¢ iR
T o 3 @ wd I B =g w

g -1 gl - I

( yFTreTaT ) ( TFURUT/f&Hae)

(a) HieorEt G U

(b) TRES (i) STHTF ST

() = (i) FeewE disa

(d) == (iv) HHfE® vEfas
e

@ (b)) () (d)

(A) () @ @ @)

(B) (@) @v) &) @

© O @ @@ @)

(D) @) @) @) @

SPACE FOR ROUGH WORK / % &1d & fo& smig
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26. Match List - I with List - Il and select the ~ 26. = - I %I Gt - II % T2 Gaferg &Y iR

correct answer from the codes given A S el & W@ S A1 v Y
below :
List - T List - 1 g - 1 g - 11
(Geographers) (Concepts) ( e ) (Tagr=1)
(@) J.R. Ravetz (i)  Positivism (a) IR TS (1)  goaerEre
(TfedifesH)
(b) August Kamte (i) Welfare (b) TR HHS (i) FHEIATRE gl
Geography (FAFR fSime)
(c) Paul Knox (iii) Behavioural (c) diet Al (iii) TR YA
Geography (forefoaa fsrirmeT)
(d) W.K Kirk (iv) Critical (d) Tk Hh  (iv) TRdaa g
Geography (frdterer fomme)
Codes : e
@ () (9 (@ @ () (9 (d
(A) @) @) () @ (A) @@ @) @Gv) @)
(B) @) (v) () (@ (B) @@ Gv) (i) (@)
© Gv) @) @ @ © (v @ @ @)
(D) @) @) @) @ D) @) @ (@) ()

SPACE FOR ROUGH WORK / T% &1 & fod siig
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27.

28.

Given below are two statements; one
labelled as Assertion (A) and other
labelled as Reason (R).

Assertion (A) :

According to Von-Thunen Agricultural
Land Use Theory, different crops are
grown in different zones.

Reason (R) :

Different zones have varying agricultural

productivity.

Select your answer from the codes given

below :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

Which one of the following is in correct
sequence in the development of French
Geographical thought ?

(A) Vidal Blache, Gottman,

Demongeon, Jean Brunhes

(B) Vidal Blache, Jean Brunhes,
Demongeon, Gottman

(©) Gottman, Demongeon, Jean

Brunhes, Vidal Blache.

(D) Jean Brunhes, Gottman, Vidal
Blache, Demongeon

27.

28.

e e g e ¥ | T afveme (A)
3R T = H/IOT (R) T far w7 ¥

AfuwmeT (A) :

IR % F qfF SwE fagia F sgER
fafi=r wfcael & fafi woel #1 sareq
LI

T (R) :

fafv= &l & i =t Scaeean & ofm S &
= fET %l @ U S == w5

(A) (A) 3% (R) I T ¥ iR (R), (A)

it & e ¥

(B) (A) 3R (R) I 9 & = (R), (A)
it TE e T8 ¥

©) (A) ¥ T, W (R) 379 21
(D) (A) 39 §, W (R) T B!

FTHTE diifas faarurn & foerg §
frafafed # & fraw o srgwm §2

(A) et s, Tiiei, fewifsan, siw g
(B) iset =sotm, S sed, Tewiferan, Tifedy
(C) i, femifsrn, S s, dtee somy

(D) S 5w, TN, e =samy, femifoa

SPACE FOR ROUGH WORK / 1% &/ % fo smg
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29.

30.

Which one of the following is in correct
sequence in the stages of transport
network development according to
Haggett ?

(A) Movement, Nodes, Hierarchy,
Surface

(B) Hierarchy, Nodes, Movement,
Surface.

(C) Surface, Hierarchy, Nodes,
Movement

(D) Nodes, Movement, Hierarchy,

Surface

Given below are two statements : one
labelled as Assertion (A) and other
labelled as Reason (R).

Assertion (A) :

Urban population is steadily increasing
in India.

Reason (R) :

By 2030, 60% of world population will
live in urban areas.

Select your answer from the codes given
below :

(A)
(B)
©)

(A) is true but (R) is false.
(A) is false but (R) is true.
Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

Both (A) and (R) are true and (R) is
the correct explanation of (A).

(D)

29.

30.

i1z 3 ST TRee et % ferehrd & fafi=
TR % UE STTHA hl TR

(A) THATTHH, S, WEIIHH, e

(B) URITHH, AT, AR, T8

(C) HqE, TRITHH, g, THARTHA,

(D) g, THARTHA, TeTgHH, He

I & wom g e ¥ SR iR (A)
Ao THIOT (R) & TR fwan T ¥

afirRaT (A) :
e B T e feer i Q@ g W B

T (R) :

2030 T TR H STEE B 60% T &l
H frema S|

et 2 @ T R B A

(A) (A) T & T (R) e g |
(B)

©

(A) T ¥ T (R) A T

(A) 71 (R) S ¥ T (R), (A)
) T e T B

(A) T (R) S T € S (R), (A)
F T8 AR

(D)

SPACE FOR ROUGH WORK / Tk @i & fordl 7@
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31.

Given below are two statements one
labelled as Assertion (A) and other
labelled as Reason (R).

Assertion (A) :

The sex ratio 2011 shows an upward
trend from the census 2001 data.

Reason (R) :

Biased attitude meted out to the girl child
at the time of birth is the major cause of
the decrease of the female birth ratio in
India.

Select your answer from the codes given
below.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A) .

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(©) (A) is true but (R) is false.

(D)  (A) is false but (R) is true.

31.

ARIRT (A) T2 W/ROT (R) F TR
T feu T €

AfuwaT (A) :

Tt ST % Wefy & SFTORT 2001 F ST
|, SFRTORT 2011 ¥ RS SR Y uiy
gl

W/ (R) :

mﬁtrf‘awma@mﬁﬁmazmg@q
HN § ASH & T A F THY SHF 1Y
Toha T q-url gfiesmion )

HH IR I 11 2 @ gfm)

(A) (A) 9o (R) S W ¥ SR (R), (A)
I TE e ¥

(B) (A) T (R) Tl & ¥ iR (R), (A)
1 UE e 7 ¥

© (A) 9 ¥ T (R) Terd 2|

(D) (A) e ¥ g (R) 9T &1

SPACE FOR ROUGH WORK / 1% &1d & fordt wire
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32.

Given below are two statements : One
labelled as Assertion (A) and other
labelled as Reason (R).

Assertion (A) :

Slums are increasing and became the
integral part of Indian Urbanization.

Reason (R) :

Slums are the consequence of an
accelerating rural to urban migration
across the nation. '

Select your answer from the codes given
below.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

32.

= < e feT T € T w sifireRem (A)
AT TR I S_IOT (R) § AHifRa fowan =

Tl

AR (A) :

Fi-giafeat arelt st st st @ iR
g AR STl ol U oAt feemn o
TRITI

I (R) :

oot @ el 1 vl A ot T @
oA & Afers afsdl 1 Seer R

3 IR A 7 He | AU

(A) (A) d91 (R) SHI 97 ¥ 3R (R), (A)
Y & AR 2

(B) (A) @ (R) Tl §ed § W (R), (A)
i TE =T TR/l T

(©) (A) ¥4 T 9] (R) e g

(D) (A) TeW ¢ I (R) 9 T
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33. Match the following :

List -1

Settlements

(a)

(b)

(d)

Settlements in
Alaska

Luanshya

Ghost towns of
California

Paris

Codes :

(A)

(B)

©

(D)

@ () (o)

) (@) @)

@ @ i)

@ @ @)

) @ G

List - IT
Factor for location

@) Island

@) Gold

(iii) Copper
deposits

(iv) Mineral oil

(d
(i)
)
()

)

33.

= =0 femew)

et

(@) TR H afEmEl (i)

(b) gAET

(c) eIt &
dl T IR

@ (® (9

(A) @) @) @)

(B) @) () ()

© (@) @) (@v)

(D) () (i) (i)

-1I

fearfar & wes

fgu

i) G

(iii) dem YR

(iv) @S e

(d)
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34.

Match the following :

List -1

List - II

Type of rural Locational attribute

settlement

(a) Compact (i) Plateau or
rural settlement hilly area

(b) Linear (ii) Many
settlement routes join

(c) Radial (iii) Flood plains
settlement in hilly

areas

(d) Scattered (iv) Near well
settlement

Codes :
@ (b)) () (d

(4) @ @) O @

B @ @ @@ (@)

© () (@) @ @

(D) (@) @@ @) @

34.

ﬁ‘?ﬁﬁ?ﬂ%"{:
-1

Trtor st
W&

(a) =T UTHIOT ST
(FHEER W
YTel=<)

(b) e st

(efifeR deem=)

(c) T =it

(feoa deai=)

(d) ToR-fam et

(@ Aeai=)

He
@ (b)

(A) () (v)

B @ @

(©) () (i)

(D) (i) ()

(iv)

(c)

@

(i)

(i)

(iv)

-II

ISR AT &

S Tl
Tem e

ERERAE R

EICE

3 % IH

(d)

-
S—r

SPACE FOR ROUGH WORK / 1% &/ & fod g
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35.

36.

Match the following :

List - I List - IT
(a) Concentric zone (i)  Probability
model distribution
(b) Primate cities (i) Direction
from city
centre
() Sector model  (iii) Colonial
areas
(d) Rank (iv) Chicago
size rule
Codes :

@ () (@ (d
(A) @) @v) (G @
(B) @) (@) @) ()
© @) @) @ @
(D) @) @ @) @)

Consider the following statements :

(a) India has 46 million cities in 2011
(b) India has 53 million cities in 2011
() India has 6 mega cities in 2011
(d) India has 8 mega cities in 2011
Which of the above are correct ?

(A) (a) and ()

(B) (a) and (d)

(© (b) and ()

(D) (b) and (c)

35.

36.

frfefaa =1 firemsy

Tl - 1 Tl - 10
(a) wHHE SFACH (i) Wil s
(b) U IR (i) TRFEA
fewm
(c) QX HAled (i) SufraElt &
(d) ¥FEES®EA  (iv) famr
E T

(A) @) @) @ (@)
(B) @) (@) @) (@)
© @(v) @) @ @
(D) @) @ @) @

WWWWW

(a) =9 2011 ¥ 9Ra H 46 fuferm vz 9
(b) = 2011 § 9a A 53 fafera e
() a92011H 9IRd H 6 oI WX 9
(d) =H2011 § 9Ra § 8 S WX &
ST § A TR T2

(A) () 3 ()

(B) (a) 3 (d)

© () ¥R (@)

(D) (b) 3R ()

SPACE FOR ROUGH WORK / T% &Td % &9 wig
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37.

38.

Consider the following statements and 37.

specify the correct one.

(a) Close spacing of settlements is
associated with a point resource.

(b)  Close spacing of settlements is found
in a featureless undulating plain.

(c) Fixed K values occur in the case of
Christaller’s model.

(d) Fixed K values occur in the case of
Losch’s model.

Codes :

(A) (a) and (b)
(B) {a)and (9)
(€) (b)and (9)
(D) () and (d)

Which theory is based on distance and  38.

cost ?

(@) Theory of agriculture land use by
Von Thunen.

(b) Centre place theory of Christaller.
(c) Theory of Demographic Transition.
(d) Population theory of Malthus.

Select the correct answer using codes

given below :

(A) (a) and (b)
(B) (b) and (c)
(€) (9)and (d)
(D) (a) and (d)

e Al R R i qu wd & e

HIfST | '

(a) T forg & & Wi st =1 e
e S[e1 @ B

(b) R, e e % e |
FreheT=aR T T ¥ |

(c) foreror iea # fler K o1 @ e
Tl

(@) g % Aiew ¥ fer K 1 7 fer
R

< :

(A) () 3R ()

(B) (a) 3 ()

(©) () FR()

(D) (0 ¥R (@)
< T @ W snefa i €
(a) FRZRA 1 HiT yfF ST w e

(b) TreeR = % wa fasia
(c) SHifshehd TeRAU I THGTd
(d) WU w1 SHEE st

F= T o 9 T SW F T B

A) @b
B ©)T()
© ©WE(d)
D) (@) ()

SPACE FOR ROUGH WORK / T% &td o fordr s
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39.

40.

Which one of the following is in correct
sequence in the zone of Von Thunen
agricultural land use ?

(A) Firewood and timber, intensive
agriculture, intensive agriculture
(with fallow land), vegetables and
milk.

(B) Vegetables and milk, firewood and
timber, intensive agriculture,
intensive agriculture (with fallow
land).

(C) Intensive agriculture, vegetables
and milk, firewood and timber,
intensive agriculture (with fallow
land)

(D) Intensive agriculture (with fallow
land),
firewood and timber, vegetables
and milk.

intensive agriculture,

Which of the following arrangements of
countries in descending order of mica
(mine) production is correct ?

(A) China, US.A., Russia, Finland
(B) US.A,, Finland, China, Russia
(C) Russia, China, US.A., Finland

(D) China, Russia, Finland, U.S.A.

39.

40.

T ok H yfa SuE wfesy frafafea
H 9 fored W@ orgen €2

(A) 3¢ TS TR, TeTHY, TeTEH (TR
& i), Wissal e gy

(B) wiss wd gy, doM wd v, T
FY, e Ffy (WA F @)

(©) T Y, wfssrali wsl gy, St we T,
e HY (T F T

(D) TR BT (WA W), e FH, o
TS RS, WisTal w gy

HYF (TIH) IR & 20 FH § <0
ot sraensi § 9 wi-oad@ 32
(A) I, a.emiw, w9, s

(B) €. sl frcle, <, =

(C) &9, 9, §.1. sl frrde

(D) =, &9, fFrls, .. s

SPACE FOR ROUGH WORK / % &g % f&d wmig
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41.

42,

Consider the following concentric zones
of land uses as given in Von Thunen’s
Which of their following

sequences from the town centre to

model.

outward is correct ?
(a)
(b)
(©
(d)

Intensive crop farming

Firewood and timber

Market gardening and milk

Crop farming (with fallow and
pasture)

Codes :

(A) (@), (), @) ()

B @ O)© @

© @ © O) @

D) ®) @) @ ©

Match List - I with List - IT and select the
correct answer from the codes given

below :
List - 1 List - II
(Region) (Mineral)
(@) Chiangzing (i) Coal
valley
(b) Transvaal (i) Copper
region
(c) Chiquicamata (iii) Iron ore
(d) Moscow region (iv) Manganese
Codes :
@ ) ( (@
B) G @ @ 6
® O @ @ G
© @ O @ @)
D) () @) @ 6

41.

42,

A o % Hied § id T fH SuEr R
FrefofEg gesa ¥l | faEm S
TR ¥ § ol #1 IR FraAfafea § 9 ST
FHH-91 9 & 7?2

e I Hi
TS Ahel T IS
oSl T grH SeIe

I Y (T T =/OTE F )

(a)
(b)
(c)
(d)

he:
(A)
(B)
©)
(D)

(©), ®), (@), (d)
(@), (b), (c), (d)
(d), (9, (b), (a)

)

(b), (@), (d), (c

T - 1R g - 11 % W gafad i
R A ol w2 @ W@ S g

T - 1 T - 11
(w=eT) (@)
() AT ()

(b) TFATA HSW

ICIESERIC
HrEah! &3

(©)
(d)
E TR

(a) (c) (d)
@ @
(iv) (i)
(iif)  (iv)
(i @

(b)
(A) (v) (i)
® O @@
© @@ @

(D) (i) (v)
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43.

44.

Given below are two statements, one is
labelled as Assertion (A) and the other is
labelled as Reason (R). Select the correct
answer from the codes given below :

Assertion (A) :

Electronics components are often
considered footloose for which there is a
fair latitude of location at choice.

Reason (R) :

Transport cost is the most important
factor of location of foot loose industries.

Codes :

(A) (A) and (R) both are true and (R) is
the correct explanation of (A).

(B)  (A) and (R) both are true and (R) is
not the correct explanation of (A).

(© (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Which factors have fostered the growth
of Jute Industry in the Kolkata Region ?

(a) Raw materials

(b)  Port facility

(c) Cheap labour

(d) Govt. policy
Codes :

(A) (@), (b) and (¢)

(B)  (b), (c) and (d)

(© (@), (b) and (d)
(D) (@), (b), (c) and (d)

43.

44.

A= ho e T, v i ofeer (A)
T 1§ 3R FER I HWOT (R) el T 2|
e 5t | w@ S oghe

afyeRem (A)

Wﬁma‘»wﬁmmwaﬁﬁ

I 2, T T e % qata fagey

AT

RINUT (R) :

IRTET =T |eels TEIT TR

A R0 |

%< :

(A) (A) IR (R) 3 W& ¥ ol (R), (A)
ht e A

(B) (A) 3R (R) 3 ¥ &, = (R), (A)
i & R T ¥

©) (A) ¥9 8, W (R) 379 &1

(D) (A) /& B, T (R) ¥4 B

frefafen § SH-SF-a Fewma oy §
Y IENT & TRty o1 HROT & ?
(a) e verd

(b) iEwTE giaen

() T HORY

(d) W A

E TR

(A) (@), (b) 3R (¢)

(B)  (b), (c) 3R (d)

© (@), (b) #R (d)

(D) (a), (b), (c) 3R (d)
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45. Match List - I with List - IT and select  45. et - 1R e - 11 9 femse 3R =1

correct answer using the codes given Y Wl SW AT
below :
R - 1 e - 1
List-1 List - II A
(Tr@® ) ( 31U )
(Author) (Concepts)
(a) 3TEHS dM () SHEEn
(a) Alfred Weber (i) Population fagia
Theory
(b) 3L (i) SR TAH
() Von Thunen (i) Theory of fagia
Industrial
Location
(c) W. Christaller (iii) Agricultural () B foreer (iti) P TIH
Location T
Theory
(d) Malthus (iv) Central (d) FegS | (iv) T M
Place Theory fagia
Codes : %<
@ () © (@ @ () () (@
A @ @ @@ A @O @) @
® @ @v @@ O ®) @@ @) @) O
© @ @) @ @ © @ Gv @ @
(D) @ @) @) @ (D) @@ @) @) @
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46.

47.

Match the List - I with List - II and select
the correct answer using the codes given

below :
List-1 List - IT

(Mining Area) (Minerals)
(@) Gorumahisari (i) Bauxite.
(b) Talcher (i) Uranium
(c) Jaduguda (iii) Iron ore
(d) Niyamagiri (iv) Coal
Codes :

@ ® (9 (@
B) @) @) @ 6
® @ @ @ @
© @) @ G
@ O v ) i)

Which among the following factors are

not correct about Bhakra Nangal Dam ?

(a)

(b)
(c)
(d)

It is highest straight gravity dam in
India.

It is the longest dam in India.

It:is the only concrete dam in India.

It has been constructed with
Assistance of Russia.

Codes :

(A)
(B)
©)
(D)

(a), (c) and (d)
(b), (a) and (d)
(b), (c) and (d)
(@), (b) and (c)

46.

47.

eIl - 11 el - 11 9§ fiemee ok it g

@'Hﬂ‘?fﬂ'{?gﬁ‘{:

Tl - 1 T - 11

(EEH &) (Ef)
(a) e fEart () TR
(b) TR @)
(c) Smger (i) T TR
(@ FEmhd (iv) HrFer
%

(A)
(B)
©)
(D)

@ ® © @
@) @ @ o
™) @ G o
@ @ @ o
O ) @ @

IR AT oY W Gaifod SH-9 1 O F1F
S & 7 ?

(@)

(b)
(c)
(d)

%<

(A)
(B)
©)
(D)

g R H T G e ST iy
Tl

I RA H 9oy o 91y T

% Uk A1 Hifshe &irg &1

3 W % WA ¥ 59 T

(a), (c) 3R (d)
(b), (a) 3R (d)
(), (c) ¥R (d)
(@), (b) 3R (o)
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48.

Given below are two statements, one is
labelled as Assertion (A) and the other is
labelled as Reason (R). Select the correct
answer from the codes given below :

Assertion (A) :

The Tharus practised various types of
marriages, but now they prefer regular

marriages.

Reason (R) :

The Tharus have accepted many Hindu
social practices.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

48.

3 v K3 T E, T R ATHERG (A)
o1 gE H HWOT (R) FE TR A
Fol A wf W :

ARRYT (A) :

o faf= YR @ wigdl wd 9, WY
a7 3 Frafhd fame w1 THS FW T

W(R):

o A 3 % fawg - Rarsi i WiwR
feram g1

&

(A) (A) 79 (R) IF ¥4 § 3R (R), (A)
# TE A B

(B) (A) T (R) T & g 3R (R), (A)
Y e A 7 g

©) (A) T ¥, Y (R) 319 T

(D) (A) 3 &, WG (R) ¥ €

SPACE FOR ROUGH WORK / T & & f&d e
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49,

Given below are two statements, one is
labelled as Assertion (A) and the other is
labelled as Reason (R). Select the correct
answer using the codes given below :

Assertion (A) :

Japan is a nation-state in true sense of the
term.

Reason (R) :

Nation is a particular form of ethnic
community, one in which cultural
identity is merged with political demands.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
does not explain (A).

(C©) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

49.

A 3 e e T ¥, R arfiemer (A)
3R THY ! HWOT (R) el T &1 99 &3
%l ¥ W& W g

AFHHYT (A) :

ST Wt 10§ U T - T (WA-22)
?I

T (R) :

T T UH1 S (Tefer) e 8, foes
Hipiren Y= Tsiiaen sreneii & are fiedt
BRIy

%

(A) (A) ¥R (R) 3T v &, 3R (R), (A)
T GE AT B

(B) (A) ¥R (R) 3 ¥ ¥, W (R), (A)
it TE = T R

(©) (A) 9 T, W (R) 19 T

(D) (A) 39 T, T (R) ¥ 2

SPACE FOR ROUGH WORK / T% & & fod g
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50.

51.

Anthropological survey has been
identified how many tribes in India ?

(A) 420

(B) 460

(C) 500

(D) 1000

Rimland does not include one of the
following Countries/Regions :

(A) Russia

(B) S.E. Asia

(C) India

(D) East Siberia

50.

51.

R T THETEATRIR A feha S A
F T8 i § 2

(A) 420

(B) 460

(C) 500

(D) 1000

frefataa 2e/as0 B | ®19 @ T,
21 /8 frele # wnfie & €2

(A) W

(B) <fau-qa-TREn

(€) Hrd

(D) T HrEsifEn

SPACE FOR ROUGH WORK / T% & & f@a sE

7210/TFU-GEO/GLE-III




52.

Given below are two statements one
labelled as Assertion (A) and other one
is Reason as (R).

Assertion (A) :

The plantation agriculture has changed
in recent years.

Reason (R) :

Change in size of land holdings led to the
introduction of small and medium
farmers in the market.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is correct

52.

e we feu e ¥ 3R sifeme (A)
T F/IOT (R) § = fereqy 7121 B

AR (A)

Tt o oSl H g (@IvE) Hi F ufead|
BIME

/T (R) :

Y-Sl % WES H ufiade & %R, 81 ae
e TR Sy soR § gy o §)

(A) (A) T (R) TF1 ¥ T 3R (R), (A)
it TE e

(B) (A) W (R) S ¥ § T (R), (A)
i Tl = e

(©) (A) ¥ T RY (R) Teid B

(D) (A) 7 ¥ Rg (R) T&l 31

SPACE FOR ROUGH WORK / 1% &1 & fosr wmg
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53.

Given below are two statements one is
lebelled as Assertion (A) and other one
as Reason (R).

Assertion (A) :

Aluminum Industry is located near the

source of power.

Reason (R) :

Industries are usualy located close to the

sources of raw materials.

Codes :

(A) Both (A) and (R) are true but (R) is
the correct explanation of (A)

(B) Both (A) and (R) are correct but (R)
is not a correct explanation of (A)

(C) (A) is correct (R).is false

(D) (A) is false but (R) is correct

53.

H9 faw T weAl H 9 T ) ATHRTA (A)
o IR B ST (R) & TR o T ¢

ARRYT (A) :

TffTE SE St wid % e T fEe
SR |

TR (R) :

TR SE o Fe verd W B % e
et foren ST

e

(A) (A) T (R) S w1 § 3R (R), (A) F
e S 7 |

(B) (A) TN (R) T ¥ T T (R), (A)
) T A T 8

(©) (A) W& & W (R) Tord T

(D) (A) T & T (R) T €

SPACE FOR ROUGH WORK / T &rd & fo& e
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54. Chandigarh and Bhubaneswar city was 54, =g TH TR I T Q) fafim yrirsreni

planned by the same concepts by two N F fiv=a gl % e g fwan
different planners. R
Find out the correct combination of 11 %2 @ Rl F W gaem 3 gHu|

Concepts, from the code.

(@) Grid-Tron pattern () Me-srRa ¥edi
(b)  City beautiful concept (b) e Hicd e
() Sectoral/unit planning () VRRA/THE I
(d) Concentric model (d) Hgl Aiew
Codes : F:

(A) (@), (c) and (d) (A) (@) () 3 (d)
(B) (@) (b)and () (B) (@), (b) 3R (o)
(©)  (®), (c) and (d) ©  ®), (o) R ()
(D) (d), (a) and (b) (D) (@), (a) 3R (b)

SPACE FOR ROUGH WORK / T% &8 & o we
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55.

Given two statements below one lebelled
as Assertion (A) and the other one is
Reason (R).

Assertion (A) :

Most of the city plans in India could not
be successful fully.

Reason (R) :

Failure in assessment of the future
development and also the proper

implementation of plans.

Codes :

(A) Both (A)and (R) are correct and (R)
is the correct explanation of (A)

Both (A) and (R) are correct but (R)
is not a correct explanation of (A)

(B)

(A) is correct (R) is false

©)

(A) is not correct but (R) is correct

(D)

55.

Fre A oM, MRS (A) T HIIT (R)
fgm Mg

AR (A)

JRd B SIER el I A T HRA
e e S

RO (R) :

vﬂﬁwﬁmﬁt@maﬁwwaﬂt
Areradt @t S TR w8 e

(A) T (R) S T & 3 (R), (A)
& =

(A) Tl (R) ST TR T (R), (A)
F GE) e T 8 |

(B)

(©) (A) T ¥ o (R) 7T T

(D) (A) W& T& ¥ Y (R) T B

SPACE FOR ROUGH WORK / & & & ford e
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56.

Given below the two statements one
lebelled as Assertion (A) and other as
Reason (R).

Assertion (A) :

In India the larger cities are growing
faster.

Reason (R) :

Inspite of the emphasis on their
development, the small and medium
towns failed to come up to expected

norms.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are correct but (R)
is not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

56.

=1 &1 e, afieReT (A) T ST (R) @
rifeRd T T ¥

AfueRer (A) :

IRA ¥ 92 el 1 st A ghg A w |

T (R) :

B 3R 7o vl # forerd W SR S %
SEN[E A T ST AT ot Wi el o
|

(A) (A) 791 (R) S91 ¥F T iR (R), (A)
I TEl & T

(B) (A) W (R) S W&t ¥ T (R), (A)
=t TEl A TR B

(C) (A) T ® R (R) Ted €1

(D) (A) 7o § T (R) 9T §1

SPACE FOR ROUGH WORK / T% &g & fod smie
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57.

Given below are two statements one is
lebelled as Assertion (A) and other one
is lebelled as Reason (R).

Assertion (A) :

City regions have a very high degree of
Regional dynamism (movement).

Reason (R) :

City Regions have well developed

network of transportation and

communication.

Select the correct answer from the codes
given below :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false and (R) is correct

57.

SARTEHAT (A) T FHROT (R) § AR X
e fau e €1

AR (A)

Tt & orera wea e w1 A it
B ¥

&Il (R) :

et i  glwfua Ofteed %1 g
FaR T ST foret B €1

1 e 9 W@ IR I

(A) (A) T (R) S A ¥ 3R (R), (A)
1 TE S R

(B) (A) T (R) T ¥ ¥ 3R (R), (A)
w1 Tl e 7 R

Q) (A) T § T (R) e €

(D) (A) T & 3R (R) ¥ T

SPACE FOR ROUGH WORK / T & & fodl s
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58.

Given below are two statements one is
lebelled as Assertion (A) other one
lebelled as Reason (R).

Assertion (A) :

A three tier hierarchy of planning region
has often recognised (macro, meso,
micro).

Reasons (R) :

A three tier classification is a necessity of
regional planning exercise.

Select the correct answer from the codes
given below.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true and (R) is false

(D) (A) is false and (R) is correct

58.

AFUHLT (A) T HIOT (R) @ ifma o
ERERCRi g

AFHHYT (A) :

g1a woEr § g @9 wdg wegEme w)
&, HeAH Te G&EH Rl Tl & St S

<hIUT (R)

&3 S9! 1 R § 1 w1 St
I STEYTH HAT TR |

et o2 & wé S 9P -

(A) (A) T (R) <1 & € 3R (R), (A)
F GE AT T

(B) (A) T (R) THI T § T (R), (A)
! U e & R

(©) (A) ¥ ® 3R (R) T |

(D) (A) 7o ¥ 3R (R) @& 1

SPACE FOR ROUGH WORK / T% &1 & ford srg
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59. Match List - I with List - I and select the 59.

correct answer using the codes given

below :

List-1

(@) Design (i)
method

(b) Cost - (i1)
benefit
analysis

(c) Regional
method

(d) Regional
multiplier

analysis
Codes :

(@ () (9
(A) (D) @
(B) (i) ()

(D) (v) (i) (i)

(iv)

List - II

Procedural
techniques

Analitical

techniques

Methodology

System
approach

T - 1 gl - 119 firesg o e e 9

W ST YT

el -1

(a) afyeReq fafy

(b) FE-T

(c) & fafy

(d) &l SR

@ ) (9

(i) (@)

D) ()

T - 11

i) fafa o=

(iv) TN gfeehm

(d)

(i)

(iv)

@)

SPACE FOR ROUGH WORK / % @1d & fadt e
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60.

(&)

Match List - I with List - IT and select the
correct answer using the codes given

below :

List - I

(Concepts)

(a) Concentric
Zone Theory

(b) Fused Growth

Theory

(c)  Sector Theory

(d)
Theory

Codes :

@ (b)) (o)

(iv) (i)

(B)

© O @@

(D) (@) @

Multiple nuclie

) @ @)

(i

(iv)

List - II

(Authors)

(i) Garrison

(i) Hommer
Hoyt

Harrison
and Ullman

Burgess

60. eIl - I Fell - IT 9 fresy ok fret 52 @
F@'Wﬁ’ﬁ?:

- 1 T - 11
( T ) (er@® )

(a) hgEl & () T
fagia

(b) Fer\ fowm () W EEE
fagia

() &sftr fafy (i) & ik

I

(d) U Fg (iv) S
fagia

E TR
@ () () (d

(A) Gv) @) (@) (@)

B) @) @ @ (i

© O @ @) (@)

D) @ @ (v) (i)

SPACE FOR ROUGH WORK / T& &1d & o Wig
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61.

Match List - I with List - II and select the 61. el

correct answer from the codes given

below :

List - I

(Location)

(a) Pinjore

(b) Varanasi

(c) Bengaluru

(d) Renukoot

Codes :

@ @ (©

(A) @ @) ()

® @ @ O

© @@ @ @

(D) (iv) (@) (@)

(iv)

(d)

(iv)

(i

(iv)

@

List - II

(Industry)

Machine
Tools

Diesel
Locomotive

Bharat

Electronics

Aluminium

_ 1 g - 1% T gafe HiT

i A e o @ Wl s g
e -1 »vgeﬁ -1
( arafeaf) (i)
(@) TR | (@) RN
(b) SRR (i) <
e
() STE (i) A
(d) TR (iv) T
- ,
@ ® (© (@
@A) O @ @ W)
® @ G O
© @ @ @ @
O @) @ @ O

SPACE FOR ROUGH WORK / 1% wrd & fod e
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62.

63.

Given below are two statements, one is
laballed as Assertion (A) and the other is
laballed as Reason (R). Select the correct
answer from the codes given below :

Assertion (A) :

Gujarat and Maharashtra are leading
producers of cotton.

Reason (R) :

Black soils of the Deccan plateau are well
suited to cotton cultivation.

Codes :

(A) (A) and (R) both are true and (R)
explains (A)

(B) (A) and (R) both are true, but (R)
does not explains (A)

(C) (A) is true but (R) is false

(D) (A) is false, but (R) is ture

Which of the following types of climate
(according to Trewartha's classification)
occupies the major parts of the Peninsular
India ?

(A) Am

(B) Aw

' (©) Bwh

(D) H

62.

63.

A= 2 her Tl 1 ¥, v 1 aifireRe (A)
BT T R, 3R G hT HIOT (R) hal 77 £
& 2 9wl s g

WW(A):
TSR SR TERIE HU % T e £

IUT (R) :

SFHA TSR T it Fafgal wurg =1 Hfy %
o =g Sugem §1

%<

(A) (A) 3R (R) 3 T €, 3R (R), (A)
% TE A R

(B) (A) 37 (R) I T § W (R), (A)
T & = T ¥

(©) (A) ¥ T, W (R) 319 ¥
(D) (A) 318 B, g (R) 9 §1

TEgIdrE WA % ifrepiy § freferfiag § 9
9 YR &1 Sty (feanet % anffeco %
STTIR Tt et & 2

(A) Am
(B) Aw
(C) Bwh

(D) H

SPACE FOR ROUGH WORK / T% &Td & & Wig
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64. Match List - I with List - IT and select the  64. g\a'r-la»’rzpﬁ-ﬁﬁﬁw@vﬁ%ﬁqm

correct answer using the codes given % { wE W AT :

below :
List - I | List - I gt -1 gt - 11
(Location of (States) (&) (=)
_ canals)

(a) Sirhind Canal (i) Uttar (a) fafes @ S Y]

Pradesh

(b) East Yamuna (i) Madhya b) THETGTAR () THA R
Canal Pradesh

() Indira Gandhi (i) Punjab (© s () T
Canal

(d) Wainganga (iv) Rajasthan (d) S AR (iv) TSTEIM
Canal

Codes : %< :
@ ® © (@ @ ® © @

A @ @ @ A @ @ @@ w

® @ @ @ O @ @ @ @ 0

© @ O @) @ © @) @O @) @

(O) @) @ O G (D) Gv) @@ @O ()

SPACE FOR ROUGH WORK / T% &td ¥ fed s
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65.  Match List - I with List - I and select the ~ 65. g - I %1 gt - I1 ¥ firemrew ok 1 faw

correct answer using the codes given T Fe W W IR I :
below :
List - I List - II I - 1 T - I
(Name of the (Location) , (= % ) (TarT)
Forest)
(a) Manas (i)  WestBengal (a) ¥FE (i) uf=m dme
(b) Belta ’(ii) Assam (b) o= @) oEm
(c) Gorumara (i) Bihar (c) TIEER (i) fosm
(d) Mudumalai (iv) Tamil Nadu (d) HgHeR (iv) dfHerTg
Codes : He
@ () (@ (d @ () (9 (@
(A) @) @@ @ @) (A) @@ @) @ (i§)
(B) @ @) @) () (B) & @) () ()
© (v) @) @ ) © (v) @) @ @@
D) @ @ (v) () D) @ @ () (i)

SPACE FOR ROUGH WORK / 1% &Td & fod s
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66.

67.

Coal is produced in the states of :
(a) Jharkhand

(b) Odisha

(c) Chhatisgarh

(d) Madhya Pradesh

Select the correct sequence as per their
production from maximum to minimum

using the codes given below :
Aa) © @, 0, D
B) (), (), (b) (@)
(C) (), (@) (©) @
D) (), (d), ), @

Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).

Select your answer from the codes given

below :

Assertion (A) :

Pearson’s Correlation Coefficient

measures degree and direction of

correlation.

Reason (R) :

A Pe of > 6 times of ‘r’ indicates a high

significance of correlation.

Codes :

(A) Both (A) and (R) are true and (R) is
correct representation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (R) is true, but (A) is false

67.

Fre IARH T4 €

(a) @S

(b) enfem

(c) VU

(d) T HE™

Frd ¥ ST § I Sl & SHR
T e e 3 SuE & wE g g

(A) () @), () (d)
(B (@) ©, @) (d)
© () (@) © @
(D) (e}, (), (b), (a)

SR (A) T /T (R) @ HifRd Q
e feg e €

7 2 9 ST I Bl AT :

AR (A)
ST TedsY TUE wedey i i T
fewm o1 A9 HIA B |

ST (R) :

’r"@l'6§“ﬂﬂ§lPe'H%’qﬁfH%3ﬁﬂ%ﬂTEﬁ

Tufar 8|

e :

(A) (A) 7 (R) I W& T 70 (R), (A)
T e B

(B) (A) @ (R) A W& T W (R), (A)
F1 T == T 8

() (A) T & T (R) T €

(D) (R) ¥ & T (A) T T

SPACE FOR ROUGH WORK / & &t & foa s
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68.

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R).

Select your answer from the codes given
below :

Assertion (A) :

In a stratified sample, the objects to be
surveyed are grouped into classes.

Reason (R) :

Stratified samples prior
information about the objects of study.

require

Codes :

(A) Both (A) and (R) are true and (R) is
the correct representation of (A)

(B) Both (A) and (R) are correct, but (R)
is not correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (R) is true, but (A) is false

68.

T < e fow e ¥ W ehieme (A)
T TE 1 SHIOT (R) & Tifwa fran o &)

3T IR H T g2 @ g

TR (A) :

T Tl giiesd 7 wdam % forg agedi =1
a1t H wfed fnan s g

I (R) :

wWid wiaeRl % fo awg e & ey §
e I *T STEvaEa Bt T

e

(A) (A) T (R) S ¥ T T (R), (A) T

HE T §

(B) (A) 7 (R) Tl &t ¥ WG (R), (A)
t TE e T R

©) (A) ¥ & WY (R) Tord &

(D) (R) 9™ ¥ WY (A) TTod &

SPACE FOR ROUGH WORK / T% & & fotd woig
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69.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Select your answer from codes given

below :
Assertion (A) :

The most common goal for classifiying
data for choropleth maps is to have

homogenous classes.
Reason (R) :

All the data classification techniques give

homogenous classes.
Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
ot correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (R) is true, but (A) is false

69.

9 & wuT ATHRSA (A) T HRUT (R)
feg T €

A R e e | g

ARG (A) :

Eﬁﬁ@ﬂqﬁﬁlﬁ%m%ﬂm%ﬂé

.Wawﬁwmaﬁammaﬁm%l

T (R) :

wﬁ%awﬁwwaﬁﬁ,ﬁwaaﬁm
BT

X

(A) (A) 3R (R) ST T T 3N (R), (A)
I TE A T

B) (A) 7 (R) T T T T (R), (A)
F} ge e T B

©) (A)W%‘W@(R)W%I

(D) (R) & & T (A) T €

SPACE FOR ROUGH WORK / T® FE & fd IR
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70.

Given below are two statements, one
labelled as Assertion (A), and the other
labelled as Reason (R).

Select your answer from codes given
below :

Assertion (A) :

A Lorenz curve explains the distribution
of income among house holds.

Reason (R} :

Lorenz curve shows the relationship
between cumulative percentage of
households and cumulative percentage of

income.
Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) - Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C)  (A) is true but (R) is false

(D) (R) is true but (A) is false

70.

IMUEHAT (A) TN HROT (R) ¥ THifET &
% feg T )

I S H e Fe @ gfe

Af®eT (A) :

A % TefeeEl & 9 o v w9
A A R

T (R) :

AR a5k | TRl & Wi oitaq sl ghag
34 3T F He Hael ) @wtar

E TR

(A) (A) 7 (R) < & § 3R (R), (A)
i WeEl A

(B) (A) T (R) T ¥ § W (R), (A)
! TE ST TR B |

©) (A) ¥ € T (R) o T

(D) (R) ¥cT ¥ TG (A) TTefa 1

SPACE FOR ROUGH WORK / 1% %14 &% & sore
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71.

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Select your answer from codes given

below :
Assertion (A) :

Physical geographical data is of a
continuous nature.

Reason (R) :

Ratio and interval scales deal with
continuous data.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

71.

R (A) T HROT (R) & Heife
o fog TR
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ARIHIT (A)
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@@ S
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(A) (A) T (R) S W& € A1 (R), (A) F
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(B) (A) @ (R) I &l € Y (R), (A)
w1 TE e T R

(@) (A) ¥ § TR (R) T €

(D) (R) T & T (A) 7o €

SPACE FOR ROUGH WORK / T & & fodr smg

7210/TFU-GEO/GLE-III




72.

73.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Select your answer from codes given
below :

Assertion (A) :

Two dimensional tables are Relational
type of attribute data.

Reason (R) :

Relational data can be updated easily.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(©) (A) is true, but (R) is false

(D) (R) is true, but (A) is false

Consider the following Bar graph :

g 60 53
{2 r
7]

£ E 40 35 | |

5 3 30-} W [

e ool 1 ’273 |

Z 104 9 T }
N |,[ \J | |

1971 1981 1991 2001 2011
Census years

What is the actual increase of million plus

cities in last 40 years ?

(A) 41

(B) 44

(©) 43

(D) 40
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%Wﬁﬁl‘q:

(A) 41

(B) 44

(C) 43

(D) 40
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74.

Consider the following statements on
Population density and select the correct
answer from the given codes :

(a) All north eastern states have
(Population density) less than
150 P/km? as per 2011 census.

() Other than Tripura, all north east
states have less than 150 P/ km? as
per 2011 census.

(c) All north eastern states have more
than 200 P/km? as per 2011 census.

(d) Assam and Tripura have more
than 150 P/km? as per 2011 census.

Codes :

(A) (a) and (b) are correct

(B)

(c) and (d) are correct

(C) (b) and (c) are correct

(D) Only (d) is correct

74. frafefan SEEn o7 W < T HeE W
w2 Sife qen fr w5 ¥ vl S g

(b)

(d)

(A)

(B)

©)

(D)

¥ 2011 % SEOEAT % SR wfl
SoR-qel T H (SEE T
150 st /&t . T

a4 2011 3 SFITUAT % STTER I
Brew wHt SE-Ta Tl § (e
) 150 =t /= . §1

a9 2011 % SOMI % STTER/ 8
ITR-et T W (SHEEA )
200 =t/ ot R 2

& 2011 3 SOFT % HdlfeE SEH
iR B § (SEEA ¥ )
150 =t/ ot fo. . Q@ e @)

(a) 3R (b) T T

(c) 3R (d) W €1

‘(b)ﬁ'((c)ﬂ'é%l

Fae (d) T B
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75.

Consider the following table :

; Number of
Types o towns/UAs/OGs
Towns/UAs/OGs

2011 2001
Statutory towns 4041 3799
Census towns 3894 1362
Urban Agglomeration| 475 384
Out growths 981 962

Which of the following statement is
correct as per the table ?

(A) Number of census towns have
declined from 2001 to 2011.

(B) Number of outgrowths have
increased more compare to UAs.

(C) There is no change in Outgrowths.

(D) Number of statutory towns have
increased from 2001 to 2011.

-00o0-

75. 17 e9a R faar #if

S Y&l T e /

UAs/OGs UAs/OGs

2011 2001

[EIEERERIEN 4041 3799

SV STT&T TMeX 3894 | 1362

Tfed STIET L 475 384
EECERI 981 962

ROI % SITER Fret § 1 @ w82

(A) 20019 2011 T SIUAT STTEY I
T He v ¥

(B) UAs &l qer § 3gaef wiedi =t eifres
e e
(C) ST vl & IS gfterds 7 gom ¥

(D) 2001 @ 2011 7 fafy ergew wedf ot
& 5E ¢

-00o0-
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I iR T T W9 : 2w 30 fufre ARrFaT 3 : 150

Time for marking answers : 2 Hour 30 Minutes Maximum Marks : 150

e

1. 9 WRA-IR | 75 99 § - Uo® 9 2 of =5 3 Gt T T HET A ¥

2. W % IW, § T OMR ITR-¥ie (siee-3ie) W sifka ST

3. RUTHS YeAiH T R S

4. T it T % St o i deet ud Tieme W w5 v afta &

5. OMRSW-¥ife (siae-¥fie) 1 Wi e o et $ sramaer 7 5%/t Rred =g e < 1
SHH TIE 1 e ol Te W fred wererey 98 w0e 8 o |

Note :

1.  This Question Booklet_ contains 75 questions. Each question carries 2 marks. Answer all
questions.

2. Indicate your answers on the OMR Answer-Sheet provided.

3. No negative marking will be done.

4.  Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-sheet care should be taken so that the Ahswer-sheet does not get

torn or spoiled due to folds and wrinkles.
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